JU-A : 2021-22(Set-M)

Part-A : Short Syllabus

L. S5 T 4.7x10'5Hz 4TS ATCS 1000 A ST SATOS ZT- (1 point)

[P-2.8, JU-A,, - 2021-22]

R i =

® e fRfo =@

_ B[ BTG TS 2J

" RS RA WD MfSre e =

Explanation:

SI®IWhy| b7 FFMRF: 2TOF 49T CF@ D FAoA IF
wItR AE O I THFREES e 8% g (AF RN oo

FACS I 1 | 82 TN THH(EH 9 {19 o THF 0T |
IS @ (1S 5P TS N @ T A (e Fae
TR M S SIS, OITE 82 41od IRICATS 0T |

W{;:hUu i£=ht}o
Ao
8
o hy=T=32X10 a8 10Pm =638 A
Up 4,7 x 10

6% o7 o7 LAY oAy 638A 1 (R WHfee w4
ST 10004, T8 SR S (@A O3 wivfew SiitEl

Yo AT SR et 8 Faa =1 |

2. A A< A3 TN Ty 2B 8 G646 TATHIN- (1 point)

|P-2.10, JU-Ayy = 2021-22]
® th 3 vca
| Vce 3 Vl}E
A V{:{: 3 V{:E
- PEBR Y

Explanation:



[SI@]why] sirge e (common
emitter, CE):

Input voltage: V.

Output voltage: V.

3. 1 MW YN 92 (1 point)
[P-1.1, JU-Ayy : 2021-22]
108w
108 /s
1000 kW
® Se3TE

Explanation:

IMW = 10°w = 10° Js™' = 10® kw = 1000 kw

4. 11001.011 RN S Y6 WIS 9 Q2 (1 point)

|P-2.10, JU-An, - 2021-22]

(13375
(0 13.875
® 25375
(24875

Explanation:

lS[@]\V_hYl

1 1 0 0 1  0.011

@ 4 2 @ =0x27+1x22%2+1x2
25

=0+0.25+0.125 = 0.375
(11001.011), = (25.375),q

— . ——_ O W W

- “ - A - . " "—F :
* A =2i—j+3kATE = i —2j — 4k 4 8B (VAN WIS wrg =y e ! PO
AFF (O[d F9?
[P-1.2, JU-Apy: 2021-22]
L 2 11 - 1
——— i+ ——j+ ——k
576 @ 5v6° /6
2 11 . 1
———f— =i+ —k



Explanation:

[S[Q]wWhy] F=fatE «ss (o5 = AxB

| A x B
—-— — ? j\ f: M A N
AxB =12 1 3|=i4-6)-j(-8-3)+k(4+1)
1 2 -4
=—2i+11 _]+5k
~ A x Bl =/(=2)* + (11)* + 5*=4[150 = 5\16
N 11 A
AT T (O = — —=— | + +———k
5\/-6 5\13 s\ﬁs
A 11 A A
=--—1+— +—k
NRENGERY
6. 4FD GG (AFTFT 9 ATE WNT ATTH (ITO ST FA1C5T- (1 point)

[P-1.8, JU-Ay, : 2021-22]
(1 0.5s

® s

(1 25

T 1.8s

Explanation:

[SIG]WhY] ¢ careeas <3 @i, T = 2sec

TF TG (AF AT A0S (@O (T ALwI T I @R 9T@ 1 sec
G AT |

7. (@ S WP OGS TSN (FH F T fI77re oo qarstag (1 poin)
ersniafes STufe ==y T3

[P-2.3, JU-Ay, : 2021-22]
" @RNA 3

P T 5a

" 23G36NT STa



® GG Y

Explanation:

Iﬁ@]ﬂ'ﬂ i ST ;@I SR FeAtd AT e ffere
ATRSTE eefAfed i =y |”
IPET ST FAD SIS 3]G I R |

8. (PG TOTVH? (1 point)
[P-1.2, JU-Ay, = 2021-22]

Ckxk=0
®;xk=7
Okxi=j
fcxﬁzi

Explanation:

WhY

AonoA A A Clock Wise = (—)ve]

K, 1 =-k [ .
i X-L ) ‘L g . A [Anti Clock Wise = (+) ve]
Ex?=i ?XE=“E

9. 1km OHLS WIE© IF0 AN IO 5000 STAT AHO (@I CFT (RS (1 point)
ﬁg mﬁq{r‘aaﬁl‘—lﬁrﬂ

[P-1.5, JU-A,, : 2021-22]

® 4900
9800
80017
L9007

Explanation:

S[@IWhY] B =rf T % 1L 99 sifefE
©3+lf& = mgh = 0.5 x 9.8 x 1000 = 4900 J

10. 10°C STPNTHTR Ske STET AN (F 32°C ST OAIO T4 dGNgiorg (1 point)
HAfTTEN (TN T2

[P-2.1, JU-Ay, = 2021-22]

® s 9



YT
ST ATBE
MG BT 6B EI

Explanation:

HAOGE ds=3% =ms In 12= 5 x 4200 x m% = 142327.63 JK™
1

oAl GGEF ARIOT (IS |

11 TSy SIE] CATEF A6 [ (A SIfos=g 384 & afarrsigazea (1 point)
a7 sfonfE 8 Efoxfe stuw 332

[P-1.8, JU-A,, = 2021-22]

(P62 WY

Explanation:

SI[@Ww E, = E, z%k(Az—x2)=%kx2
2

= AZ=x2+x* = A?=2x* =>x2=—2- .'.x=i%

12, (PN OAIHF FNAF O TH AT *T6 SITA1 F4T ITH (T T (FI (! point)
4316 RME At 91 ot iurag A4S 99 512 AT SIS S I

[P-2.7, JU-Ay, = 2021-22]

® SIS
A EICL|
" oAf TR
" s

Explanation:

SI@IWhY] TRET: T FT TAT AW @A MG WA FA
0 ([ I (@9 G e e 9 e Aues A Ol @1
AfFITs ITe I |

13. S STOMNTAT & BIT 1 (I ST 4P SO WA Ay Fo? (1 point)



[P-1.10, JU-Ay, : 2021-22]

® 568 x 105 m3
268 x 102 m™3
201 x 108 m™
1 x 102 m73

Explanation:

| et siyiceTe wiefie 22.4 L 31 22.4 x 107°m’
e T = 6.02 x 10* ©

S 1L x 107°m’ SoF T =

6.02 x 10%

74 % 107 =2.68 x 10®°m™
4 x

14, SRS TS LN-AZS (FNG? (1 point)

|P-2.10, JU-Ay, - 2021-22]

) n BT30S (T & p BIR0H 2ETF N
® , Br30o1 IETHEA p BIR (T

) n B2 @ p BIA0 GolH2 2THEA
" nBIRT™ 8 p D12 GoN2 =4

Explanation:

SI®why| Rem SLARRIRITS TUF AT @ G2 2EARGT AT |
f&® p-type @ *fe® 2T : @
I'l'typﬁ " " " : W‘T

15. onfAg (ay =g O ora fefg ta Fow fa=a vromrar 92 (1 point)
[P-2.1, JU-Ay : 2021-22)

373K
® 372.15K
(273.15K
273K

Explanation:

[SI@Iwhy] ~ifae taafama Sow fofe o <% 97 273.15 K @3z
o f7 373.15K |

6. & ZIRCZITOAL FIANOIF NGl FO? (1 point)

[P-1.10, JU-Ayy : 2021-22]



® -
()3
(0

(PRGN

Explanation:

SIOIWw| & 3wmEEs e et [mmia H, ¢ R
e ST ©1% W W TEl S |

17. fRT67 (S BRIGrod I9IIa (e [N ¥9? (1 point)

|P-2.10, JU-Ayy = 2021-22]

_ STigraer ford R

) SR (SRS (G
ST T2 A= [
® S FICATG [

Explanation:

SOt cRfer Rt i
i, g A KT (Common Base)

ii, A4 e =57 (Common Emiter)
ifi, JIYIEe Ta@lzF <95 (Common Collector)

18. 1 KW THNOIT IFH6 (AR [P (SOII00 JNHIC 1 oo onfy s ff_ee (1 point)
gflﬁwaaﬁwﬁmwwﬁﬁﬁlﬁﬁ%mﬁﬁrmm
© (FOIITO F© Ol B B NF TH-

[P-2.3, JU-A,, - 2021-22]

()3.6%10%]
) 3.0x105]
@®36KJ
3.0KI

Explanation:

[SI@]WhY] et @bare By ©i,
H =msAB=P xt
= 1000 x 6 x 60 [t=6 min]
=3.6x10°J



19. gy GHI6 OaTs Ba® T TaITo! AY ATAF7T 31/4 T, FAgaraa gy (! point)

LT | ia 1| 2&51' HO?
[P-2.7, JU-A,, 2 2021-22]

() 23m
0 2n/3
® 312
U 32m

Explanation:

S{®]why =X AX=EEXTE=T

20. SfGe TR Od% OF WIHES? (1 point)

[P-2.7, JU-Aypy : 2021-22]
Sicicen
LAV ETEOED

21. 30° C OINTHTH 120cm® WHON AT 456 R SIS 120 KPa BT oW (1 point)
FE | A2 OIAATFIT GLHIAS NTHCE 100cm’ WIHOHT JHT6 AT

BB AO ST I MTHIBE I FO I ?
[C-2.1, JU-A,, : 2021-22]
) 140KPa
() 14.4KPa
® [44KPa
) 1.44KPa
Explanation:
S{@]why] P,v, =Pp,V, Vi=120cm®=0.120 L
_PyV, _120x0.120 P, =120 KPa
=Py =—1—1== = 144 |
v, 0.1 “Pa v, =100 em® = 0.1 1L
P2 - ?

22. 0.001M NaOH B<CTq pH 9 VN $O ? (1 point)

[C-1.4, JU-Ay, = 2021-22]

11
12



® 3
14

Explanation:

S[@]why| * pOH =—1log (0.001) = 3
*pH=14-3=11

.

23, qF2 *TO18H fATea (1= sIS(e Iiore o g AT 15T 2 (1 point)

[C-2.1, JU-Aypy : 2021-22]

80,
" COy
@ HCl

) NHj

Explanation:

1
WhY|ra—
S[@]why NI

AT O @ A DT T TN | AR THES ©F I
I E G 1 SO, (64) W S @MY @A Mot Ta a7 wefie
e o INF JAIY T |

24 (FTEFIONT GIN© (AT (YTH 561 FLA YA (N GATAIN 2 (1 point)
[C-2.2, JU-Ay,y : 2021-22]
® wjiromaty s
|
N TR

Explanation:

[SIA]WhY| SErS i @16 e wfie @it @it T I |

25. FAfIES A (@R 47a [AEm mw e (1 point)
[C-2.2, JU-Ay, : 2021-22]
) REAPLRIIeTS LTINS
® oo e



- RIS SAfogow
L ReF el afegom

Explanation:

[S[@]why] efSgrm Rftrt 3 ae:

o JERGIPET AfSIAT: AT 8 ([@FEH « Y0 [ o |

» FEPsiFEE afSgeT: Sy', Sy, 3° RX, 1°RX, SHIECRIEE,
M, 9T @ 99 TeFTYR @ G107 [feF &7

26. ZIRTHITOTN BLAT WIZH ATAA D (ATH- (1 point)

[C-2.1, JU-A,, = 2021-22]

) 85-200km

1 200-1100 km
2 1100-3500 km
@ 3500-10000km

Explanation:

[SIOIWhyYRmerm @ S @ [y TAmmerE Seir
SN R ANE Fl ©itF [TV I | YT SAMIET (O
IS 409 o4 fofe @ » S SFa1T 510 S i o1 1 |
i, AEAHRE RGITE B9 100 km-200 km 214 |

ii. AIERT SRS B9: 200 km-1100 km <48 B9 |

iii. REAT ®9: 1100 km-3500 km 214 |

iv. QOGS & 3500 km-65000 km =¥ |

27. AT STANTATT 750 mL TG BICT 200g NaCl Hargwo Wty | S feera (1 point)
=@ BT NaCl 49 TIATOl FO?

[C-1.2, JU-Aypy : 2021-22]
' 4.66 mol/L
® 456 mol/L

() 566 mol/L
(556 mol/L

Explanation:



SEW (A GTHE) T ©F
Glwhy 5) 2[5 e R B EACIEICT]

_ gg% g/L = 266.67 g/L = 4.56 mol/L

28. offg frggmora T a7 Sty SfEE- (1 point)
1. DO
i. BOD
iii. p!!
fAtea (it st
[C-2.1, JU-Ay, : 2021-22]
i
i @i
i @i
® ;i 3iii

Explanation:

S{®]wny)| “itfs Rewer T g7 e TefEE:
* DO * BOD * nH

29. AT FIINA 97 FUF© (FI(B? (1 point)
[C-2.2, JU-Ayy : 2021-22]
) CH;3-OH
@® CH,;CH,-OH
) CH;CH(OH)CH;

"' (CH;);C-OH

Explanation:

[SIEWW] 1 @S w4 T T —CH,~OH | ©1% firizer
Jife @q AL CH,—CH,—OH |

30. (TSI AANTA O N4 T TNOTF TN F 4 dF2 FF omasnerfass st 4w (1 poino)
fox Srmats A9=aq S It

[C-2.2, JU-Ayy : 2021-22]
- SR

® SR

- SIRTG



U (PR Y

Explanation:

SIBlwhy] @ 7 JamgE ©9 sedw I Nefgwa AR wad fFE
NI AT 1S7 SITHICE AT NRENAE I |

31 (PRIG G SN TS TN (1 point)
[C-2.1, JU-Ay; - 2021-22]
" HNO;
® 1S
) H,80,4

NOE

Explanation:

erl?wr?re G

{I%W?H, @3, CHIT, SOZ, CO,, | SO, NO,, H,SO4, N,Os,
CO, NH;, H,S, Q2«1 HNO; 4™, PANs
32. (@M AfSHTS Ffo~ CTrsra fIenL=a o1 532 T4 T2 (1 point)
[C-1.2, JU-Ayy : 2021-22]
) oo
e *frow
® ST
Explanation:

[SI@wWhy[sen @irie feasart @, S @@, Seeiren,
T:IT"’I‘PH—M, niee e, «ffERE, @R e enm ke
Sql Y | Lo “ifoq o AR RO I7ge T |

33. SO RI2 e 8 fHeraa ey *ndF7 N9 TTd Oy 9359 T3- (1 point)
. Bt f[aras

ii. 2,4-DNPH

iii. Cpfe1s JIeT



fAtea (@=ie wf5s?
[C-2.2, JU-Aypy : 2021-22]
il
i @i
®;sii
i 8 i
Explanation:

S[@WhY] v(m@ SriefeRde JqaRe wefk e 539 8 5w
fRerared s f{feest o3 | faw fTem R s =

o CH;—CHOJrZ[Ag(NH;);]OHS—UADE) 2Agd+CH,COONH,+3NH3+H,0
St

e CH,~CHO+2Cu(OH),+N&0H-25 CH,COONE +Cu,04+H,0
e

34. Nat S MG FACT (FRI6 I IH? (1 point)
[C-1.2, JU-Ayy : 2021-22]
L K,Cr0;
® K,H,Sb,0-
) K5Sb,04

" PbCr0Qy

Explanation:

[SIGIWhY] NaCl+K;H,Sb,0;, — NayH,Sb,074 + KCl
KIS Sl SHSTEA
SEISICHIRTR NG

35. 10% Na,CO; AACTH (AT INAIGl (- (1 point)
[C-2.3, JU-Ay, = 2021-22]

10 mol/L.
® 09434 M
) 9.434 M
L 047M

Explanation:

g =210 _ 1010 _ 9434



36. (FIG AT OIS ATG 9T TTF©? (1 point)

[C-1.3, JU-Ayq : 2021-22]

() H,80,
) H,8,035
' H58,04
® H.S,0;
Explanation:
[ST®]Why] e cm:
_ _
W R
~2 | H,S
+3 H,S,0, RRrePTERrear Ufe |
+4 H,S0; ARSI GfTe
+6 | H,S0, AErreRe bre
+2 | H,8,0, JTAMARFO S PTG '|
| +7 H>S,05 A FC T ARG
| 6 _l H,S,0; | AREPIrORe WS

37. 1 mol Ag FITATCG GINT FATO AgNO; HILT FO HIANCSG A Grer (1 point)
FACO T(I?
[C-2.4, JU-Ayy : 2021-22]
®iF
() 2F
O 3F
) 4F

Explanation:

ISIAlwWhY| Ag*+e > Ag . Q=exnxF=1x1F=1F

38. fNTHF (@ CNAABF ToN WHMS TQBADRIT AN? (1 point)

[C-1.3, JU-Apy : 2021-22]

I NH*



) CHy

® Sk,
Explanation:
[SI®Iwhy]
* CCly > sp’ — TOSaRIY * SF, — sp°d — 2% (see saw)
* NH," = sp’— 503 * CH, > sp’ — bO%aRd

39. fTEa (6 HdeToN fTu? (1 point)
[C-1.4, JU-Ayy : 2021-22]
) HMnO,
" H,80,
__ HCIO,4

@® HNO;

Explanation:

SOwhy]| @ afiites @Y Gt @9 9 Ao A @12
afFT FITOTT < T | AT @iTesten Jtdr HNO,; i&a 9w |
IET GF (FRT CIER FET TN S0 @ESER Ry e
S AT D A |

40. NH;BF3 CHITST fAfSR a1 WYy I~ WY - (1 point)
i SIS
ii. STUCITON
iii. STTRTIT IHA
fAtea (d=fe wfes?
[C-1.3, JU-Ay, : 2021-22]
i
®;isii
i i
i i B i

Explanation:



S[®]WhY| NH;BF; Zge snicaifat QIR @iE:

] L
F lr:-\:II\J—H — | F—B+—:N—H J

F H Eoba
@ (T3

qfFTe) )
NH;BF; Gt i #1197 Tty ANar&t @ Afra I SR |
41. (PTG ARSI S H~? (1 point)
[C-2.2, JU-Apy = 2021-22]
) CH,=CH,

) CH3;-CH=CH-CH,

) CICH=CHCI

Explanation:

SI@]Why|seifEsT s faraa 5 o e e T4 A |

42. gfn JerdE ¢ RIGETES 9F2 7T AMTSF O OIS {6 Ite? (1 point)
[C-1.4, JU-Ayy : 2021-22]
® Sr1g SRS
L ETTg AORS
3-SR
L I AR

Explanation:

[SIBIwhy] 7 e ¢ R @3 P AFE OF SIS T3
HOIT A |

43. 2x* 3x -5 =0 TNSACTA TS T 0, p S v TCA, Y af = 7 (1 point)
[M-2.4, JU-Apg : 2021-22)

52
302
® .32
=572

Explanation:



SIEIWHY] 2x° — 3x— 5= 0 et Tap ===

44. i[e’h] _ 9 (1 point)

o

[M-1.9, JU-Ayy : 2021-22]

Explanation:

_ Rz
54 o o
BET 2\/}_{ "

45. 34 B 1ﬁimﬁﬂﬁﬁﬁmmﬁr“ (1 point)

[M-2.6, JU-Ayy = 2021-22]

L (£6,0)
L (£8,0)
L (0,£8)
® (0.+6)

Explanation:

A B@ I—"l-": il i x
h / 2" 2 2

SO £ - =15 55— 1 960,20

3 |
W T+ 2 8o + 4 THALA x=5/2 O WEg® =7 B T2 (1 point)

[M-1.9, JU-A,, : 2021-22]
L) 109/24

() -109/24

® 13/4

4

Explanation:



3

S[EWhY] y = +x*— 8x +4

d
&= xr+2x—8
dx
d 13
x=2gA Y =224+5-8="=
2 dx 4 4
47 ""; + i‘ﬁ _ 1 399a® TS At AR 97 (1 point)
[M-2.6, JU-Ay, - 2021-22]
) (0£5)
() (%5,0)
) (#N7.0)
® (0.+V7)

Explanation:

L2 =\/__2 \7
Sl@jwny| 5 +3z=1 ¢ 1-76 =4
. SATT = (0, + 4 3§)= (0, £/7)

48. ]W — cos 2z de — (1 point)
1+ cos2x '

IM-1.10, JU-Ay, = 2021-22]
" In|1 + cos2z| + C
g —tanz + C
" sec’z + C

@®tanz —z+C

Explanation:

E[]Whyl J‘ 1 — cost

cos2x
2511'1 X 4 Sin'X J' 2. 4o _ 2,
P oy x fcos " tanx dx = f(sec x—1)dx

= lfanx—XxXx—+¢c¢



(1 point)

49. ( _1(1
tan| tan 3

) n/4
@
(506

|
—
_|_
oy
B
=
|
el
P o
b | =
—
\\UJ
|
=

[M-2.7, JU-Apg : 2021-22]

o

Explanation:

1.1 5
| 3 2 1 6 T
= tan (fan T — tan ta 3 :tanz = ]
1 _3.5 '6'
50. A— [1 2] dTAB — [3 12]1-?THB=" (1 point)
3 4 11 24 ; '
[M-1.1, JU-Ayy : 2021-22]
12 —3
14 —1]
S
0 6
@[5 0]
—1 6]
U (PBR A

Explanation:

_ (1 2) _(3 12
S[@wny| A (3 1) RAB=(" oy

(3 12 y (3
1 (4 -)(3 12
=B=7"73 141 24
1}
=| 2 )= e
5 11 24

51 x2 - 5x + ¢ = 0 ANSACTH JH0 Y1 4 (A ¢ A7 NH F9? (1 point)




[M-2.4, JU-A,, = 2021-22]
®
O 4
&y
O

Explanation:

SIOIWH] g o 7 4 - -5 x 44002 =4

2. 1 poi
> X[; ﬂ =[5 6], X =7 (1 point)

[M-1.1, JU-A : 2021-22]

Explanation:

E@walx@ §)=(5 6)
LY, x99I NE I x 2 o x=[a b]
(a b)@ 'D=(5 6)= (a+3b 2a+4b)=(5 6)

.a+3b=5...();2a+4b=6...... (1)
()9 a=5-3b; (1) ”9,2(5-3b)+4b=6
= 10-6b+4b=6 =>b=2 - a=-1 . x=(-1 2)

53. 1 poi
: Sin_laztan_l(i),az? (1 point)

[M-2.7, JU-A,, : 2021-22]
® 3/5
L5/3
() 3/4
473

Explanation:



[SI@]WhY]sin™ a=tan™ §:>tan = tari”'2.
w- 4 o N

= tan™' —=— = tan ]§ _3 1@
\Jl—-a \J]—a 4 7
= a —2:5163—9 9a’=> a’ 22 . a=§ -
1—-a" 16 25 S
13 . =] 3 .13 3
Shortcut: tan™ = = sin =sin < ..a=<=
4 \J4% + 3 5 5

54. GFI6 ATTAL FOF y- WOHA GO 5 a3 (TG 2x + 3y + 5= 0 g7 (1 point)
TG g | (@UIfod ANFAT (FHB?

[M-1.3, JU-Ay; : 2021-22]
W 3x-2y+10=0

[ 13x-2y-10=0

B 3x-2y+10=0

I 3x+2y+20=0

Explanation:

E@:Wh}'\ A ¢E@ﬂﬁﬂﬂ§l@#y=fﬂx+c S y=mx+35

S99, 2x + 3y + 5 =0 99 =¥ (19 0 =3
2
y=%x+5 =>2y=3x+10 .. 3x—-2y+10=0
55. ' cosmdx (1 point)
o +1-+sin’z "\
[M-1.10, JU-A, : 2021-22]
L nf2
/8
.
w216
@ Blank

Explanation:



SI&]why] CosX dX 49, sinx =t .. cosx dx = dt
1 \/1 + sin’x | ]

0 1 O T { )
= J.I Jl 2d1=[lnt+ ]+t2] =| In|sin x + ]+Si112x] =-0.76
+t

] - ]

56. (x,0) A1 TS (0,2) 932 (0,1) TFFT TAHAIO! A x AT TN FO? (1 point)
[M-1.3, JU-Ay, = 2021-22]
03
® 4
OF

Explanation:

(x,0) T (0,2) 97 7= = \[x* + 4

(x,0) 9 (6,4) @I E@9 =\(x—6)"+16
FONE, \[x> +4=1(x—6)’+16 = 12x=48 .. x=4

57. fl T (1 point)
0 1+ z*

[M-1.10, JU-A,, : 2021-22]
() 21/3

a3

O /4

® 3

Explanation:

X

X 1
B0ser] | i o J TR

qf, x*=z2= X dx=dz @R x=0Tz=08x= 1T z=1

(1 X 1 2xdx 1 _dz =l[tan"1 7!
"fn]+(x) dx~2 01+(x‘) 2 01+Z 2 :

| _ 1 T
=§[tan b (1)—tan™ (0)]=§'><1-0= 2

#1149 Rerfvo i ow come: (i



[M-1.1, JU-Ay, : 2021-22]

3_ A__]_ 1_-2 _3:| _""2 3_‘
2 8—-9l—-3 4 —L3 —4

4
L3

59. x?-4x +3 =0 INFACTANTZN a 8 p XA, a - f =2 (1 point)

[M-2.4, JU-Apy : 2021-22]

Explanation:
SIBwhY| x> -4x+3=0 . .o-P =@ 3 =2

60. d;i(\/mszm) — 9 (1 point)

[M-1.9, JU-Apy : 2021-22]

® —sin2:
v/ cos 2z

cos2z
v/ cos 2z

() 2sin2z
vianz

- tan 2z

v/ sin 2z

Explanation:



SEO) sor"| €IS,y = '\/cos 2X

oL ginox)o=28n2X

dx 2\fcos 2X \fcos 2X

61. y2 .8x -6y-23 = 0 AATILG T CATI(H BN FO? (1 point)
[M-2.6, JU-Ay, = 2021-22]

® (23
L (-4,3)
L(0,3)
L (-6,3)

Explanation:

S[@|why] y* - 8x— 6y —23 =0

= y* =23y +3?=8x+23+9= (y—3)*=8x +32
= (y=-3'=8(x+4)=(y-3)"=4.2 (x +4)
CAET (X,Y)=(a,0) .. x+4=2 .. x=—2
y=3=0. y=3 . (xy)=(-2,3)

62. 3y = 4(x-3) ATS 3y = 4(x-1) (FUTFTHA VLTS 717 G FO? (1 point)
[M-1.3, JU-A,, : 2021-22]
® 35
) 16/5
) 8125
16425

Explanation:

SI@why] 3y =4 (x-3)

=>3y=4x-12 .. 4x-3y-12=0..%)

4
~.() ' (ii) 9T TR g = ‘3‘2:: -5

63. ' [nspection ' *TTHA AMTSITP *137 (FIHIO ? (1 point)

[JU-Aypy : 2021-22]




- oA
® frwe
R

Explanation:

S[@®@)wWhY|Inspection-Afamim; Audit- e Observing/
observation-fAar |

64. + RIfSTa ' (PN 4TS ST 2 (1 point)

[JU-Ayy : 2021-22]

L ST
® Se oy
Y

Explanation:

S[@]why|Arerm o eoferE T

65. fNTHA (6 AWNLF *IFH W ? (1 point)
[JU-Ayq : 2021-22]
0wt
_ wof
@ x=v
© cmfR

Explanation:

ST Why|o-sRem, s | i, W, x1, G o R

66. 'Let him do the sum' - Change it into passive voice. (1 point)
[JU-Ayy : 2021-22]

() Let the sum done

) Let the sum be done
@ ] ct the sum be done by him

'_! Let the sum being done by him

Explanation:



[S[@]why] Let + TIfEaBE object & Active Sentence &
Passive F3te =3 faw S st =3 |
Let +object (< Subject+be+V;+preposition+ Subject (& object.

67. Find the pair which has same relationship of '""New Zealand : Australia". (1 point)
[JU-Apy : 2021-22]
" Sri Lanka : China
@® Sri Lanka : India
) Sri Lanka : Bangladesh

" Sri Lanka : Malaysia

Explanation:

[SI@]WhY] NewZeland STGfemta wfird-otd S[fEs @i Aoz |
Srilanka ST AfF < g6 = & =(F |

68. Choose the correct preposition in the following sentence- Sixty miles an hour. (! point)

PR

[JU-Aypg = 2021-22]
() of
" in
) at
@ no preposition

Explanation:

. CDIWhY\ an hour Qg AT prepositic;n PR

69. qHIB T WITGITT CAITHTAT NN 1 T0O- (1 point)

1. A=0,
nA=1,
=1,

= 5 &
([T
—_— et et

i A
fAtea FRiE 53z
[JU-Ayy : 2021-22]
i g
i 8 i
®;3ii
i @ i

Explanation:



70. (6E.594),, = ? tpoi)
[JU-Ayy = 2021-22]
® (110.35009765625),
) (111.35009765625 )44
) (110.3),,
' (101.35),,

Explanation:

S[A] why|(6E-59A);6=6 x 16'+14x16°+5% 167 +9x 162+10x 167
= (110.35009765625),6

71. TR FrofSrs 99 GT TGN TFGORY FO? (1 point)
[JU-Ayy : 2021-22]
) 2.44 Mbps
1 Mbps
' 1.44 Mbps

@® 2 Mbps

Explanation:

[SI®[Why] 96 4R G0 (o1& &1 3 Mbps 47 FIRIFIR

72. (T TET ASCI FUITF n AAF FNFIFEONEF A (1 point)
[JU-Ayy : 2021-22]
® Lo
" @fGeeE

& r—

Explanation:

[SIBIWhY|@IEaT ASCII 7w n I T8 6 ©it foraeld <6 |




73. fTod (@6 IEF A3, Google AF® - (1 point)
[JU-Aypq : 2021-22]

() Rendering Engine
) Online Software

@ Web Crawler

" Browser

Explanation:

S[@]why| Google waft smmeferw v 3few, @bre Web-Crawler
TEOSTIIF IO 2 |

7. A+ B+ AB IF ARNSAT XA (1 point)

[JU-Ayy : 2021-22]

n
w W

VUZATB
® 4B+ AB

Explanation:

SI®OWhY] A+B+AB=AB+AB = A.BAB
= (A+B).(E+"B')= AA+AB+AB+BB= AB+AB

75. HTML (TG IR <justified> tag 6 fF FTG ITIzqaTaOITN? (1 point)

[JU-Aypy : 2021-22]

) (BHGE *IHE I e a1
@ T2 WG TN FF (HHO SR AT
) (CHLRES [R61F f[E5~ S I

Explanation:

SIBIWhY] <justified> — 72 v S 17 < BB SR |

76. (ATRB NI (N (AT (a1 FAI TCNCY 2 (1 point)

[JU-Ay, : 2021-22]



B EG
® =5
- TNl

Explanation:

Part B : Extra Syllabus

77. 20 Kg AR A0 A2 tad BfFT 5 ms! (FTH 0.5 m [F 9F6 FICHa (1 point)
SfY (SR FATS AMF IILAANSIA! ICTH NN FO?

[P-1.3, JU-Ayg : 2021-22]

() -0.5N
() -0432N
05N
5N

® Blank

Explanation:

[SIQ]Why| Fie =i Topsitvr:
Foaly = sifexfeq Afdqeq, W = AE,

i, W mv> _ 20 x 5% _ 500
= FXx 2mv — 3 | X 2%03 1 S00N
78. (PN GH0 FATNT IF ANCIC G Ol AT FO? (1 point)
[P-1.3, JU-Ayy : 2021-22]
0
® a5y =
" (PNIB2 Y

Explanation:

SI@why] Ret e @ @ weRiwee e e
IffSe 0 | ARE T4 (B87 A iR frw AffeeE pataw Ao
A | oI P G0 T ARFS |




79. STNTNA B26 AT Alehd 5 IZCHT BT 47 foqQ7T1 gThg (1 point)
NHTIO! CHIT F9?

[M-2.8, JU-A,, : 2021-22]
Q0
O 450
® 60°
Cgpe

Explanation:

S[@]why| «f, <=7 P, P =% 21 R =077 @ «Tvd T4=S] (319 o
=TS, R*=3P* .. 3P*=P?*+ P*+ 2P* cosa. |

|
= 2P%cosa. = P? = coso= 5 Cooo=60°

80. ABC NI fG9TTTd AB, AC 432 BC I3 IARA TATHIN 4, 2 A3 1 4F S (1 point)
WG I g (A0 20T TRA Fidh NN F97?

[M-2.8, JU-Ay; : 2021-22]
33

O3

O3

® FRMGE Y

Explanation:

S
E@ RcosB = 4cos0° + 2c0s120° + 1¢c0s240° = 5 N

EN

Rsin® = 4sin0° + 2sin120° + 1sin240° = 5

~R= @)2 + (325)2 =+J7N



